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QUESTION 1

The DalvikVM core libraries are a subset of which of these?
A. Java ME

B. Java SE

C. Java EE

D. Doja

Correct Answer: B

QUESTION 2

The following code applies to a dialog layout defined in XML. Which is the correct code that goes into (1)? (Assume the
dialog layout is correctly defined in res/layout/custom_dialog.xml, and there are no other problems in the rest of the
application.)

01: Dialog dialog = new Dialog(MainActivity.this);
02: dialog.setTitle('Dialog™);

03: | 0] |
04: dialog.show();

A. dialog.inflate(R.layout.custom_dialog);

B. dialog.setContentView(R.layout.custom_dialog);
C. dialog.getinflate().inflate(R.layout.custom_dialog);
D. dialog.setLayout(R.layout.custom_dialog);

Correct Answer: B

QUESTION 3

Which will be displayed in TextView01 when executing the following code?
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O01l: import android.app.Activity;

02: import android.os.Bundle;

03: dimport android.widget.TextView;

04:

05: public class ExampleActivity extends Activity {
06: private TextView textView;

07:

08: @verride

09: public void oncreate(Bundle savedInstancestate) {
10: super.onCreate (savedInstanceState) ;

i i setContentView(R. layout.main);

121 textView = (TextView)findviewById(R.id.Textviewll);
13:

14: new Thread(new Runnable() {

15: pubTlic void run() {

16: textView.setText("Hello');

17: }

18: P .start();

19: textView.setText('Hello world ') ;

20: }

21 }

A. "Hello World" will be displayed.

B. "Hello" will be displayed.

C. It is undetermined which will be displayed, "Hello World" or "Hello".
D. A runtime exception will be thrown.

Correct Answer: C

QUESTION 4

The logo displayed at Android system boot, initlogo.rle, is converted using rgh2565. Which is the original format before
conversion?

A. jpg
B. raw
C. tiff

D. gif
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Correct Answer: B

QUESTION 5

Which of these is the correct explanation of the Android Interface Description Language?
A. It enables data exchange between different applications.

B. You cannot use Java primitive types as method parameters.

C. Multiple methods can be defined in one AIDL file.

D. It provides an environment for executing script languages.

Correct Answer: C
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